RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

SeeMeCNC Guides

RostockMAX v3.2 Touch Screen KIT
Installation REV B MAY2018

This document was generated on 2022-01-27 01:49:10 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 1 of 10



RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

Step 1 — Preparing Your Kit

@ First, click here to read safety information . This safety information may be updated at anytime so

occasionally check for updates.

@ NOTE: This guide is intended to be followed online in order to fully utilize the links and
documentation found within.

e Open and inspect the contents of your touch screen kit to ensure you have all the parts listed on
the BOM.

e If you did not purchase the optional enclosure parts add-on, you will need to 3D print the enclosure
parts, click the following to download:

e click to download front cover

o click to download back enclosure

e click to download case post

o click to download frame post

This document was generated on 2022-01-27 01:49:10 PM (MST).
© 2022 seemecnc.dozuki.com/ Page 2 of 10


file:///Document/LTYJwRbbPexAYt5x/SeeMeCNCWarningsandIntrodctionPageofalli.pdf
https://github.com/seemecnc/Machine_Elements/blob/master/83229%205%20inch%20touch%20v32%20mount/83222%20Front%20Enclosure%205inch%20touchscreen%20MAY2018.STL
https://github.com/seemecnc/Machine_Elements/blob/master/83229%205%20inch%20touch%20v32%20mount/83223%20Back%20Enclosure%205inch%20touchscreen%20MAY2018.STL
https://github.com/seemecnc/Machine_Elements/blob/master/83229%205%20inch%20touch%20v32%20mount/83224%20Case%20Mounting%20Post%20MAY2018.STL
https://github.com/seemecnc/Machine_Elements/blob/master/83229%205%20inch%20touch%20v32%20mount/83225%20Frame%20Mounting%20Post%20MAY%202018.STL

RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

Step 2 — Mesh Loom Wire Installation

b

(i) Note: We no longer ship with the 4 pin connector as it is no longer needed! Only the ribbon cable
is used!

o Orient the cables as shown. With the alignment tabs from both connectors facing upwards, the red
wires should be oriented away from each other.

e Pass both cables through the mesh loom. You will need to expand the mesh loom as much as
possible in small increments to pass the large connectors through.

This document was generated on 2022-01-27 01:49:10 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 3 of 10



RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

Step 3 — Assemble Electronics

o Install the PanelDue control board on the touch screen as shown. Be sure the pins all align and
plug in fully.

e Plug in the two cables as pictured. Make sure the green wire on the molex connector is oriented
towards the ribbon cable, and the red wire on the ribbon cable is oriented towards the "Erase”
button.

This document was generated on 2022-01-27 01:49:10 PM (MST).
© 2022 seemecnc.dozuki.com/ Page 4 of 10



RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

Step 4 — Plugging in the PanelDue Cables

e Plug in the two cables as pictured.
Make sure the green wire on the
molex connector is oriented towards
the ribbon cable, and the red wire on
the ribbon cable is oriented towards
the "Erase" button.

() Both the ribbon cable and the molex
cable should only install one
direction as they are keyed.

& 4 Pin molex connector no longer
used, only use ribbon cable.

Step 5 — Touch Screen Assembly Prep

o Peel the film off the touch screen.
@ Make sure to enjoy the satisfying feeling of peeling the film off new electronics. Yeah...that's nice.

e Locate the front and back half of the screen enclosure for the following steps.

This document was generated on 2022-01-27 01:49:10 PM (MST).
© 2022 seemecnc.dozuki.com/ Page 5 of 10



RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

Step 6 — Touch Screen Assembly

o Pass the cables through the hole in the back of the enclosure, and insert the screen as shown.

& Be sure that the back enclosure half is oriented as seen in the photo, using the board standoff
posts as a reference point.

Step 7 — Touch Screen Assembly (cont'd)

e Align the front half of the screen enclosure as seen.
& Make sure the opening for the SD card lines up with the SD card slot at the bottom of the screen.

@ Secure the two enclosure halves together using the four #4 1/2" L sheet metal screws

This document was generated on 2022-01-27 01:49:10 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 6 of 10



RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

Step 8 — Arm Installation

@ Locate the screen mounting arm and pass the cables through as shown.

e Position the arm on the enclosure as shown, ensuring the flat side with the bolt hole is aligned with
the bottom of the screen (indicated by the SD card slot)

@ Secure the post in place using the four #6 1/2" L sheet metal screws

Step 9 — Arm Installation (cont'd)

o Make sure the 10-32 nylon lock nut is seated in the arm post as shown.

o Use the 10-32 x 3/4" L SHCS and the #8 SAE flat washer to secure the two arm parts together as
shown.

This document was generated on 2022-01-27 01:49:10 PM (MST).
© 2022 seemecnc.dozuki.com/ Page 7 of 10



RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

Step 10 — Screen Assembly Installation

/

e Pass the cables through the screen arm assembly as shown.
@ Open the top hatch on your printer.

e Locate the two 6-32 nylon lock nuts and 1" L machine screws.

Step 11 — Screen Assembly Installation (cont'd)

o Pass the cables through the hole to the right of the Duet board.

o Pass the 6-32 x 1" machine screws through the touch screen arm assembly and the holes next to
the Duet board as shown, and secure the screen assembly in place with the 6-32 nylon lock nuts.

This document was generated on 2022-01-27 01:49:10 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 8 of 10



RostockMAX v3.2 Touch Screen KIT Ins...

Step 12 — Final Assembly

Guide ID: 105 - Draft: 2018-09-18

@ Plug the cables into the Duet board as shown, and replace the top hatch on your printer.

@ Turnthe machine on, and touch the dots to calibrate the screen.

& The screen should be inverted from the factory. We will change this setting in the next step.

Step 13 — Inverting the Screen

Jo005z  00A 00X

220S€ Wy 2914
j01SJoA BrEMULY 3N [aued|

Touch the spot

o Select "Setup” > "Invert Display"

o Re-calibrate the screen by touching the dots.

This document was generated on 2022-01-27 01:49:10 PM (MST).

© 2022 seemecnc.dozuki.com/

Page 9 of 10



RostockMAX v3.2 Touch Screen KIT Ins... Guide ID: 105 - Draft: 2018-09-18

Step 14 — Inverting the Screen (cont'd)

English
jnvert display
Brightness +

M\rﬁ_}f display
Brightness - |

Calibrate touch
Light
Save sellings

e Select "Save & Restart" > green check mark

Step 15 — Done!

e Enjoy your new touch screen!

& Be sure not to rotate the screen too
far to the right, as it could pinch and
possibly damage the cables. Future
versions of the arm design have a
rotation limiting post to prevent this
from happening.

This document was generated on 2022-01-27 01:49:10 PM (MST).

© 2022 seemecnc.dozuki.com/ Page 10 of 10



	RostockMAX v3.2 Touch Screen KIT Installation REV B MAY2018
	Written By: SeeMeCNC
	Step 1 — Preparing Your Kit
	Step 2 — Mesh Loom Wire Installation
	Step 3 — Assemble Electronics
	Step 4 — Plugging in the PanelDue Cables
	Step 5 — Touch Screen Assembly Prep
	Step 6 — Touch Screen Assembly
	Step 7 — Touch Screen Assembly (cont'd)
	Step 8 — Arm Installation
	Step 9 — Arm Installation (cont'd)
	Step 10 — Screen Assembly Installation
	Step 11 — Screen Assembly Installation (cont'd)
	Step 12 — Final Assembly
	Step 13 — Inverting the Screen
	Step 14 — Inverting the Screen (cont'd)
	Step 15 — Done!


